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asked to do so. 

 1. iz’u&iqfLrdk dks rc rd u [kksysa tc rd vkils dgk 

u tk,A 

2. The booklet contains 60 questions. 

Examinee is required to answer any 50 

questions in the OMR Answer-Sheet 

provided and not in the question booklet. If 

more than 50 questions are attempted by 

student, then the first attempted 50 

questions will be considered for evaluation. 

All questions carry equal marks. 

 2. iz’u&iqfLrdk esa 60 iz’u gSaA ijh{kkFkhZ dks fdUgha  

50 iz’uksa dks dsoy nh xbZ OMR vkUlj&’khV ij gh 

gy djuk gS  iz’u&iqfLrdk ij ughaA ;fn Nk= }kjk 

50 ls vf/kd iz’uksa dks gy fd;k tkrk gS rks izkjfEHkd 

gy fd;s gq, 50 mŸkjksa dks gh ewY;kadu gsrq lfEefyr 

fd;k tk,xkA lHkh iz’uksa ds vad leku gSaA 
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iz’u ,d ls vf/kd ckj Ni x, gksa ;k mlesa fdlh 

vU; izdkj dh deh gks  rks mls rqjUr cny ysaA 
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1. {kkjh; e`nk dk fdlds }kjk lq/kkj fd;k tk 

ldrk gS \ 

 
1. Alkali soils can be reclaimed by the 

addition of : 

(A) ikbjkbV~l  (A) Pyrites 

(B) csfld LySx  (B)  Basic slag 

(C) ykbe  (C)  Lime 

(D) dSYlkbV  (D)  Calcite 

2. vf[ky Hkkjrh; e`nk losZ{k.k ,oa Hkwfe mi;ksx 

laxBu dk eq[;ky; gS % 

 
2. The head office of All India Soil Survey 

and Land use Organization is at : 

(A) psUubZ esa  (A) Chennai 

(B) ckWEcs eas  (B)  Bombay 

(C) ukxiqj eas  (C)  Nagpur 

(D) ubZ fnYyh esa  (D)  New Delhi 

3. Ca 10 meq/l, Mg-8 meq/l vkSj Na 45 

meq/l okys ikuh dk lksfM;e vf/k’kks”k.k 

---------------------------------
 gksxkA 

 
3. The water having Ca 10 meq/l, Mg-8 

meq/l and Na 45 meq/l, its SAR will  

be ............... . 

(A) 15.0  (A) 15.0 

(B)  22.5  (B)  22.5 

(C)  34.0  (C)  34.0 

(D)  45.0  (D)  45.0 
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4. ckf/kr ty fudklh dh fLFkfr ds rgr cuus 

okyh feêh tgk¡ gok vkSj ikuh dh vkoktkgh 

izfrcaf/kr gS] dks dgk tkrk gS % 

 
4. Soils formed under impeded drainage 

condition where movement of air and 

water is restricted, is known as : 

(A) ,flM feêh  (A) Acid soil 

(B) iksMt+ksy  (B)  Podzol 

(C) Xyh feêh  (C)  Gley Soil 

(D) pjuksfte  (D)  Cherozem 

5. e`nk esa veksfudy u=tuh moZjd dk 

vof’k”V izHkko bl izdkj gS % 

 
5. The residual effect of ammoniacal 

introgenous fertilizer in soil as : 

(A) {kkjh;  (A) Alkaline 

(B) vEyh;  (B)  Acidic 

(C) rVLFk  (C)  Neutral 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

6. ih&,p 8-0 dh rqyuk esa ih&,p 5-0 ij ?kksy 

esa vk;u lkanzrk 
------------------------

 xquk vf/kd gksrh 

gSA 

 
6. The ion concentration in the solution is 

................. times more at pH 5.0 as 

compared to that of at pH 8.0. 

(A) 30  (A) 30 

(B)  1000  (B)  1000 

(C)  300  (C)  300 

(D)  3000  (D)  3000 
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7. tyekxZ ij dqy Hkwfe {ks= tks fcUnq ij izokg 

ds fy, viokg ty dk ;ksxnku djrk gS] 

bl :i esa tkuk tkrk gS % 

 
7. The total land area on a water way that 

contributes runoff water to the flow at the 

point is known as : 

(A) ty laj{k.k  (A) Water Conservation 

(B) tyfoHkktu  (B)  Watershed 

(C) e`nk laj{k.k  (C)  Soil Conservation 

(D) mi;qZDr lHkh  (D)  All of the above 

8. fuEufyf[kr lhfer inkFkks± ds mnklhuhdj.k 

eku bl izdkj gSa fd % 

 
8. The neutralizing values of the following 

liming materials are such that : 

(A) CaCO3>CaO>Ca(OH)2>CaMg(CO3)2  (A) CaCO3>CaO>Ca(OH)2>CaMg(CO3)2 

(B) CaO>Ca(OH)2>CaCO3>CaMg(CO3)2  (B) CaO>Ca(OH)2>CaCO3>CaMg(CO3)2 

(C) Ca(OH)2>CaO>CaMg(CO3)2>CaCO3  (C) Ca(OH)2>CaO>CaMg(CO3)2>CaCO3 

(D) CaO>Ca(OH)2>CaMg(CO3)2>CaCO3  (D) CaO>Ca(OH)2>CaMg(CO3)2>CaCO3 

9. yo.kh; e`nk esa fofues; lksfM;e izfr’kr 

------------------------- 
ls de gksrk gSA 

 
9. In saline soil exchangeable sodium 

percentage is less than ............... . 

(A) 11  (A) 11 

(B)  17  (B)  17 

(C)  15  (C)  15 

(D)  23  (D)  23 
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10. xSj&yo.kh; {kkj ;k {kkjh; e`nk esa fo|qr 

pkydrk ¼bZlh½ 
------------------------- 

ls de  

gksrh gSA 

 
10. In non-saline alkali or sodic soils the 

Electrical Conductivity (EC) is less  

than ................. . 

(A) 2 dSm
–1 

 (A) 2 dSm
–1 

(B)  8 dSm
–1 

 (B)  8 dSm
–1 

(C)  6 dSm
–1 

 (C)  6 dSm
–1 

(D)  4 dSm
–1 

 (D)  4 dSm
–1 

11. 3 dS/m fo|qr pkydrk okys [kkjs ikuh dh 

yhfpax vko’;drk 4 dS/m ECe ij [ksr dh 

Qly dks lgu djus ds fy, 
--------------------------

 

izfr’kr gSA 

 
11. The leaching requirement of saline water 

having conductivity of 3 dS/m is ............ 

per cent to tolerate field crop at 4 dS/m 

ECe. 

(A) 30%  (A) 30% 

(B)  40%  (B)  40% 

(C)  60%  (C)  60% 

(D)  75%  (D)  75% 

12. Meq/100 gm CEC vkSj 5 Meq/100 gm  

fofues; H okyh feêh dh vk/kkj lar̀fIr  

gksxh % 

 
12. A soil with 20 Meq/100 gm CEC and  

5 Meq/100 gm exchangeable H will have a 

base saturation of : 

(A) 25.0%  (A) 25.0% 

(B)  133.3%  (B)  133.3% 

(C)  80.0%  (C)  80.0% 

(D)  75.0%  (D)  75.0% 
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13. flapkbZ ty ds mPp vkj- ,l- lh- dk 

ifj.kke gksrk gS % 

 
13. High RSC of irrigation water results in : 

(A) lksfM;e dk vo{ksi   (A) Precipitation of Na 

(B) Ca ,oa Mg dk vo{ksi   (B)  Precipitation of Ca and Mg 

(C) iksVSf’k;e dk vo{ksi   (C)  Precipitation of K 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

14. 
---------------------------

 us flapkbZ ds ikuh dk ewY;kadu 

djus ds fy, vkj- ,l- lh- vo/kkj.kk dk 

lq>ko fn;k gSA 

 
14. .............. has suggested RSC concept to 

evaluate irrigation water. 

(A) fjpMZ  (A) Richard 

(B) bZVu  (B)  Eaton 

(C) LdksQhYM  (C)  Scofield 

(D) fgyxkMZ  (D)  Hilgard 

15. ftIle leL;kxzLr feêh ds fy, ,d 

egRoiw.kZ la’kks/ku gSA ;g 
---------------------------

 jkT; esa 

O;kid :i ls gksrk gSA 

 
15. Gypsum is an important amendment for 

problematic soil. It widely occurs in the 

state of : 

(A) mŸkj izns’k  (A) U. P. 

(B) jktLFkku  (B)  Rajasthan 

(C) xqtjkr  (C)  Gujarat 

(D) e/; izns’k  (D)  M. P. 
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16. ¶yse QksVksesfVªd dk mi;ksx 
-------------------------------

 

vk;uksa ds fu/kkZj.k ds fy, fd;k tkrk gSA 

 
16. The flame photometric is used for the 

determination of .............. ions. 

(A) ukbVªkstu  (A) Nitrogen 

(B) QkWLQksjl  (B)  Phosphorus 

(C) iksVSf’k;e  (C)  Potassium 

(D) lYQj  (D)  Sulphur 

17. fuEufyf[kr esa ls dkSu&lh Qly yo.k 

laosnu’khy gS \ 

 
17. Which of the following are salt sensitive 

crops ? 

(A) tkS  (A) Barley 

(B) I;kt  (B)  Onion 

(C) vkyw  (C)  Potato 

(D) ‘kdjdUn  (D)  Sugarbeet 

18. gkbxzksLdksfid ueh dgk¡ ikbZ tkrh 

gS % 

 
18. Hygroscopic moisture is held at : 

(A) 31 ok;qe.My  (A) 31 atm. 

(B) 99 ok;qe.My  (B)  99 atm. 

(C) 1000 ok;qe.My  (C)  1000 atm. 

(D) 200 ok;qe.My  (D)  200 atm. 
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19. ih&,p dh vo/kkj.kk oSKkfud 
------------------------

 }kjk 

lq>kbZ xbZ gSA 

 
19. The concept of pH is suggested by the 

scientist ............... . 

(A) ySEcVZ  (A) Lambert 

(B) fgyxkMZ  (B)  Hilgard 

(C) lksjsulu  (C)  Sorenson 

(D) ch;j  (D)  Beer 

20. /kuk;u fofue; {kerk dks 
---------------------------

 ds :i 

esa O;Dr fd;k tkrk gSA 

 
20. Cation exchange capacity is expressed as : 

(A) eksy izfr yhVj  (A) Mole/litre 

(B) Meq/100 g  (B)  Meq/100 g 

(C) Meq izfr yhVj  (C)  Meq/litre 

(D) izfr’kr  (D)  Percent 

21. 
------------------------------

 ds lkFk yhfpax ds nkSjku yo.kh; 

{kkjh; feêh dks {kj.k ls jksdk tk ldrk gSA 

 
21. Saline alkali soil can be prevented 

to degradation during leaching with 

.............. . 

(A) ckfj’k ds ikuh  (A) Rain water 

(B) ehBs ikuh  (B)  Sweet water 

(C) [kkjs ikuh  (C)  Saline water 

(D) vklqr ty  (D)  Distilled water 
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22. ,slh feêh ftldk pH 8.5 ls de] ESP 15 

ls de vkSj EC 25°C ij 4 mmhos/cm ls 

vf/kd gks] dgykrh gS % 

 
22. A soil which has pH less than 8.5, ESP 

less than 15 and EC more than 4 

mmhos/cm at 25°C is called : 

(A) {kkjh; e`nk  (A) Alkali soil 

(B) yo.kh;&{kkjh; e`nk  (B)  Saline-alkali soil 

(C) yo.kh; e`nk  (C)  Saline soil 

(D) mi;qZDr lHkh  (D)  All of the above 

23. vEyh; lYQsV feêh dk pH eku fdruk gksrk  

gS \ 

 
23. What is the pH of acid sulphate soils ? 

(A) < 2.5  (A) < 2.5 

(B)  < 3.5  (B)  < 3.5 

(C)  < 4.5  (C)  < 4.5 

(D)  < 5.5  (D)  < 5.5 

24. e`nk pH esa o`f) ds lkFk] feêh ds _.kkRed 

vkos’k esa % 

 
24. With increase in soil pH, negative charges 

of clay will be : 

(A) o`f) gksxh  (A) Increase 

(B) deh gksxh  (B)  Decrease 

(C) vifjofrZr gksxh  (C)  Unaltered 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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25. feêh dh vkjf{kr vEyrk 
----------------------------

 }kjk ekih 

tkrh gSA 

 
25. The reserved acidity of soil is measured  

by ................. . 

(A) ih&,p  (A) pH 

(B) ftIle dh vko’;drk  (B)  Gypsum requirement 

(C) pwus dh vko’;drk  (C)  Lime requirement 

(D) fo|qr pkydrk  (D)  EC 

26. ftIle vkSj ikbjkbV dk jklk;fud lw= % 
 

26. Chemical formulae of Gypsum and Pyrite : 

(A) CaSO4 vkSj Fe2S2  (A) CaSO4 and Fe2S2 

(B)  CaSO4.2H2O vkSj FeS2  (B)  CaSO4.2H2O and FeS2 

(C)  ZnSO4 vkSj Fe2O2  (C)  ZnSO4 and Fe2O2 

(D) mi;qZDr lHkh  (D)  All of the above 

27. ty esa vLFkk;h dBksjrk fdlds dkj.k gksrh 

gS \ 

 
27. Temporary hardness in water is caused  

by : 

(A) Ca
++
 vkSj Mg

++
 ds f}ukbVªsV~l  (A) Binitrates of Ca

++
 and Mg

++ 

(B) Ca
++
 vkSj Mg

++
 ds lYQsV  (B)  Sulphates of Ca

++
 and Mg

++ 

(C) Ca
++
 vkSj Mg

++
 ds dkcksZusV  (C)  Carbonates of Ca

++
 and Mg

++ 

(D) Ca
++
 vkSj Mg

++
 ds ukbVªsV~l  (D)  Nitrates of Ca

++
 and Mg

++ 
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28. ihih,e 
------------------------------

 ds cjkcj gSA 
 

28. ppm is equivalent to ................. . 

(A) meq@yhVj  (A) meq/l 

(B) me/100 xzke  (B)  me/100 g 

(C) g @feyh-  (C)  g /ml 

(D) g @yh-  (D)  g /l 

29. bjksfMM e`nk;sa gSa % 
 

29. Eroded soils are : 

(A) ikS/kksa ds iks”kd rRoksa ls Hkjiwj  (A) Rich in plant nutrients 

(B) ikS/kksa ds iks”kd rRoksa ls jfgr  (B)  Devoid of plant nutrients 

(C) (A) vkSj (B) nksuksa  (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

30. Mh,l@,e esa fo|qr pkydrk dk eku 

----------------------------
 ds cjkcj gSA 

 
30. EC value in dS/m is equal to ................ . 

(A) ekbØksEgksl@lseh  (A) Micromhos/cm 

(B) fefyEgksl@lseh  (B)  Millimhos/cm 

(C) Egksl@lseh  (C)  Mhos/cm 

(D) MslhEgksl@,e  (D)  Desimhos/m 
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31. ,d [ksr esa moZjd ds :i esa lkekU; 

ukbVªkstu dk vf/kd mi;ksx] iznw”k.k ds 

dkSu&ls rjhds gksus dh laHkkouk gS \ 

 
31. An excess application of common nitrogen 

as fertilizer to a farm field, which modes 

of pollution would be likely occur ? 

(A) veksfu;k }kjk Hkwty  (A) Groundwater by NH4 

(B) ukbVªsV }kjk Hkwty  (B)  Groundwater by NO3 

(C) ukbVªkbV }kjk Hkwty  (C)  Groundwater by NO2 

(D) ukbVªkstu }kjk Hkwty  (D)  Groundwater by N2 

32. fjpMZ ,.M xzSaMj ¼1936½ us feêh dh ueh 

ekius ds fy, ,d midj.k dk vkfo”dkj 

fd;k % 

 
32. Richard and Grander (1936) invented an 

instrument for the measurement of soil 

moisture : 

(A) gkbMªksehVj  (A) Hydrometer 

(B) U;wVªkWu izdh.kZu fof/k  (B)  Neutron scattering method 

(C) gkbxzksehVj  (C)  Hygrometer 

(D) VsfUl;ksehVj  (D)  Tensiometer 

33. ihMCY;wih ij feêh esa ued dh ek=k lar`fIr 

fcUnq dh rqyuk esa 
----------------------------

 gksxhA 

 
33. The salt content in soil at PWP will be 

.................. than that at the saturation 

point. 

(A) nksxquk vf/kd  (A) Two times higher 

(B) pkj xquk vf/kd  (B)  Four times higher 

(C) Ms<+ xquk vf/kd  (C)  One and half times higher 

(D) ,d pkSFkkbZ xquk vf/kd  (D)  One fourth times higher 
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34. ck<+ flapkbZ dk nwljk uke D;k gS \ 
 

34. What is the other name for flood irrigation ? 

(A) izokg flapkbZ  (A) Flow irrigation 

(B) fy¶V flapkbZ  (B)  Lift irrigation 

(C) lrgh flapkbZ  (C)  Surface irrigation 

(D) vfu;af=r flapkbZ  (D)  Uncontrolled irrigation 

35. 6 cmol/kg fofuef;r lksfM;e cnyus ds 

fy, 
-----------------------------

 Vu ftIle@gsDVs;j dh 

vko’;drk gksrh gSA 

 
35. To replace 6 cmol/kg exchanged Na it 

required ................. ton gypsum/ha. 

(A) 1.20  (A) 1.20 

(B)  2.00  (B)  2.00 

(C)  2.40  (C)  2.40 

(D)  5.16  (D)  5.16 

36. lkWfMd feêh dh ftIle vko’;drk dk 

vkdyu 
---------------------------

 fof/k }kjk fd;k tkrk gSA 

 
36. The estimation of gypsum requirement of 

sodic soil is done by .............. method. 

(A) olsZusV  (A) Versenate 

(B) Ldwivksoj  (B)  Scoopover 

(C) cksoj  (C)  Bover 

(D) LVsucxZ  (D)  Stainberg 
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37. lfØ; vEyrk = 
------------------------- 

× xfrfof/k 

xq.kkadA 

 
37. Active acidity = ............. × activity co-

efficient. 

(A) ih&,p  (A) pH 

(B) ,dkxzrk  (B)  Concentration 

(C) oSysalh  (C)  Valency 

(D) vk;fud ‘kfDr  (D)  Ionic strength 

38. ih&,p lhek ih&,p Ldsy ij D;k  

gS \ 

 
38. What is the pH range in pH scale ? 

(A) 0-14  (A) 0-14 

(B)  1-14  (B)  1-14 

(C)  – 14 + 14  (C)  – 14 + 14 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

39. yo.kh; e`nkvksa esa 
------------------------------

 yo.kksa dh 

iz/kkurk gksrh gSA 

 
39. Saline soils are dominant in ............... salt. 

(A) NaHCO3  (A) NaHCO3 

(B)  Na2CO3  (B)  Na2CO3 

(C)  NaCl  (C)  NaCl 

(D)  CaSO4  (D)  CaSO4 
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40. Hkkjr esa o”kkZ dh dqy ek=k % 
 

40. The total amount of rainfall in India : 

(A) 420 lseh  (A) 420 cm 

(B) 119 lseh  (B)  119 cm 

(C) 325 lseh  (C)  325 cm 

(D) 250 lseh  (D)  250 cm 

41. d`f”k pwuk D;k gS \ 
 

41. What is Agriculture lime ? 

(A) CaO  (A) CaO 

(B)  CaCO3  (B)  CaCO3 

(C)  Ca(OH)2  (C)  Ca(OH)2 

(D)  CaSO4  (D)  CaSO4 

42. e`nk lq/kkjd 
---------------------------

 dk mi;ksx vEyh; 

e`nkvksa ds lq/kkj ds fy, fd;k tkrk gSA 

 
42. The soil amendment ................ is used for 

the reclamation acidic soil. 

(A) pwuk  (A) Lime 

(B) ftIle  (B)  Gypsum 

(C) lYQj  (C)  Sulphur 

(D) MksyksekbV  (D)  Dolomite 
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43. {kkjh; e`nk,¡ 
----------------------------

 ued esa izeq[k gSaA 
 

43. Sodic soils are dominant in .................. 

salt. 

(A) NaHCO3  (A) NaHCO3 

(B)  NaCl  (B)  NaCl 

(C)  Na2SO4  (C)  Na2SO4 

(D)  CaSO4  (D)  CaSO4 

44. e`nk oxhZdj.k ds vuqlkj] lkWfMd feêh 

-------------------------- 
Øe esa vkrh gSA 

 
44. Sodic soils fall in .................. order, as per 

soil taxonomy classification. 

(A) eksfylksYl  (A) Molisols 

(B) vkWDlhlksy  (B)  Oxisol 

(C) ,jhfMlksYl  (C)  Aridisols 

(D) fgLVkslksYl  (D)  Histosols 

45. vEyh; lYQsV e`nk dh vEyrk fdldh 

mifLFkfr ds dkj.k gksrh gS \ 

 
45. Acidity of acidic sulphate soils is due to 

presence of : 

(A) lY¶;wfjd ,flM  (A) Sulphuric acid 

(B) Qsfjd lYQsV  (B)  Ferric sulphate 

(C) ,Y;qfefu;e lYQsV  (C)  Aluminium sulphate 

(D) (B) ,oa (C) nksuksa  (D)  Both (B) and (C) 
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46. flapkbZ ds ikuh esa lksfM;e [krjs dks lcls 

vPNh rjg ls O;Dr fd;k tk ldrk gS % 

 
46. The Na hazard in irrigation water can best 

be expressed by : 

(A) ih&,p }kjk  (A) pH 

(B) lksfM;e vo’kksf”kr vuqikr }kjk  (B)  SAR 

(C) fo|qr pkydrk }kjk  (C)  EC 

(D) fofue; lksfM;e izfr’kr }kjk  (D)  ESP 

47. ftIle ,d e`nk la’kks/ku 
-------------------

 e`nk ds 

lq/kkj djus ds fy, cgqr mi;ksxh gSA 

 
47. Gypsum a soil amendment is very well 

useful to reclaim ............... soil. 

(A) yo.kh;  (A) Saline 

(B) vEy yo.kh;  (B)  Acid saline 

(C) {kkjh;   (C)  Alkali  

(D) yo.kh; {kkjh;  (D)  Saline alkali 

48. fuEufyf[kr esa ls dkSu&lk yo.k ikS/kksa dh 

o`f) ds fy, rqyukRed :i ls vf/kd fo”kSyk 

gksrk gS \ 

 
48. Which of the following salts is 

comparatively more toxic for the plant 

growth ? 

(A) MgSO4  (A) MgSO4 

(B)  Na2SO4  (B)  Na2SO4 

(C)  Na2CO3  (C)  Na2CO3 

(D)  CaSO4  (D)  CaSO4 
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49. QkWLQks&ftIle dk iz;ksx fdlds lq/kkj esa 

mi;ksxh ik;k x;k gS \ 

 
49. Use of phospho-gypsum has been found to 

be useful in the amelioration of : 

(A) v/kks&e`nk vEyrk  (A) Sub-soil acidity 

(B) {kkjh; e`nk  (B)  Alkali soils 

(C) yo.kh; e`nk  (C)  Saline soils 

(D) vEyh; lYQsV e`nk  (D)  Acidic sulphate soils 

50. dSfY’k;e dk ,d vk;u lksfM;e ds 
--------------------------

-
 vk;u dh txg ysxkA 

 
50. One ion of calcium will replace ............... 

ion of sodium. 

(A) ,d  (A) One 

(B) nks  (B)  Two 

(C) rhu  (C)  Three 

(D) pkj  (D)  Four 

51. xSj&yo.kh; {kkjh; e`nk dh jklk;fud 

fo’ks”krkvksa dh fo’ks”krk % fo|qr pkydrk] 

ih&,p vkSj fofue; lksfM;e izfr’kr Øe’k%  

 
51. The chemical characteristic features of 

non-saline alkali soil : EC, pH and ESP 

respectively : 

(A) < 4, > 15, > 8.5  (A) < 4, > 15, > 8.5 

(B)  < 4, > 15, < 8.5  (B)  < 4, > 15, < 8.5 

(C)  < 4, < 15, > 8.5  (C)  < 4, < 15, > 8.5 

(D)  > 4, < 15, > 8.5  (D)  > 4, < 15, > 8.5 
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52. gok esa lw[kh e`nk }kjk cuk, j[kk ikuh]  

--------------------------------------
 ty ds :i esa ekuk tkrk gSA 

 
52. Water retained by air dried soils, is 

considered as ............. water. 

(A) xq#Rokd”kZ.k  (A) Gravitational 

(B) dsf’kdk  (B)  Capillary 

(C) gkbxzksLdksfid  (C)  Hygroscopic 

(D) miyC/k  (D)  Available 

53. dsUnzh; ènk yo.krk vuqla/kku laLFkku fLFkr  

gS % 

 
53. Central Soil Salinity Research Institute is 

located at : 

(A) Hkksiky esa  (A) Bhopal 

(B) ubZ fnYyh esa  (B)  New Delhi 

(C) djuky esa  (C)  Karnal 

(D) >k¡lh esa  (D)  Jhansi 

54. lcls vf/kd mRiknd lkekU; e`nk dk ih&,p 

gksrk gS % 

 
54. The most productive normal soils have  

pH : 

(A) 5-7  (A) 5-7 

(B)  7-9  (B)  7-9 

(C)  4-6  (C)  4-6 

(D)  6-8  (D)  6-8 
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55. D;k gksrk gS tc yo.kh;&{kkjh; e`nk dks ikuh 

ls fu{kkfyr fd;k tkrk gS \ 

 
55. What happens when a saline-alkali soil is 

leached with water ? 

(A) pH vkSj EC nksuksa ?kVrs gSaA  (A) pH and EC both decrease. 

(B) pH esa o`f) vkSj EC esa deh gksrh gSA  (B)  pH increases and EC decreases. 

(C) pH vkSj EC nksuksa c<+rs gSa  (C)  pH and EC both increase. 

(D) pH esa deh vkSj EC esa òf) gksrh gSA  (D)  pH decreases and EC increases. 

56. flapkbZ ds fy, ikuh dk RSC 
--------------------------------

 gSA 

blesa Øe’k% Ca
2+

, Mg
2+

, 2
3

C O  vkSj 

3
H C O  dh ek=k 6] 4] 4 vkSj 8 meq/l  

gksrh gSA 

 
56. The RSC of water is ................ for the 

irrigation water contains 6, 4, 4 and 8 

meq/l of Ca
2+

, Mg
2+

, 2
3

C O  and 
3

H C O  

respectively. 

(A) 1-0  (A) 1.0 

(B) 2-0  (B)  2.0 

(C) 0 ¼’kwU;½  (C)  0 (Zero) 

(D) ¼– 2-0½ udkjkRed  (D)  (– 2.0) negative 

57. tyHkjko okyh yo.kh; e`nk esa lq/kkj fd;k 

tk ldrk gS % 

 
57. The waterlogged saline soils can be 

reclaimed through : 

(A) jklk;fud la’kks/ku }kjk  (A) Chemical amendment 

(B) moZjd }kjk  (B)  Fertilizers 

(C) ck;ksMªsust }kjk  (C)  Biodrainage 

(D) [ksr dh [kkn }kjk  (D)  Farmyard manure 
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58. {kkjh; e`nk vkerkSj ij 
----------------------- 

izdkj dh 

e`nk dh lajpuk iznf’kZr djrh gSA 

 
58. Sodic soils generally exhibit soil structure 

of the type ................. . 

(A) IysVh  (A) Platy 

(B) nkusnkj  (B)  Granuated 

(C) lc&,saxqyj  (C)  Sub-angular 

(D) fizTeh;@LraHk  (D)  Prismatic/columnar 

59. QhYM {kerk ij e`nk esa ikuh dh ek=k (%) 

vf/kdre@mPpre gS % 

 
59. Soil water content (%) at field capacity is 

maximum/highest with : 

(A) ykse esa  (A) Loam 

(B) flYV nkseV esa  (B)  Silt loam 

(C) Dys e`nk esa  (C)  Clayey soils 

(D) feêh nkseV esa  (D)  Clay loam 

60. gkbxzksLdksfid xq.kkad ij feêh dh ueh 

---------------------------
 ckj okrkoj.k gSA 

 
60. The soil moisture at hygroscopic co-

efficient is ............. bar atmosphere. 

(A) 1.0  (A) 1.0 

(B)  0.33  (B)  0.33 

(C)  31.0  (C)  31.0 

(D)  15.0  (D)  15.0 
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4. Four alternative answers are mentioned for 
each question as—A, B, C & D in the booklet. 
The candidate has to choose the most 
correct/appropriate answer and mark the 
same in the OMR Answer-Sheet as per the 
direction : 

 4. iz’u&iqfLrdk esa izR;sd iz’u ds pkj lEHkkfor mŸkj  

A, B, C ,oa D gSaA ijh{kkFkhZ dks mu pkjksa fodYiksa esa ls 

,d lcls lgh vFkok lcls mi;qDr mŸkj Nk¡Vuk gSA 

mŸkj dks OMR vkUlj&’khV esa lEcfU/kr iz’u la[;k esa 

fuEu izdkj Hkjuk gS % 

Example :  mnkgj.k % 

Question :  iz’u % 

Q. 1  iz’u 1 

Q. 2  iz’u 2 

Q. 3  iz’u 3 

Illegible answers with cutting and  

over-writing or half filled circle will be 

cancelled. 

 viBuh; mŸkj ;k ,sls mŸkj ftUgsa dkVk ;k cnyk x;k 

gS  ;k xksys esa vk/kk Hkjdj fn;k x;k  mUgsa fujLr dj 

fn;k tk,xkA 

5. Each question carries equal marks. Marks 
will be awarded according to the number of 
correct answers you have. 

 5.  izR;sd iz’u ds vad leku gSaA vkids ftrus mŸkj 

lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA 

6. All answers are to be given on OMR Answer 
sheet only. Answers given anywhere other 
than the place specified in the answer sheet 
will not be considered valid. 

 6. lHkh mŸkj dsoy vks- ,e- vkj- mŸkj&i=d (OMR 

Answer Sheet) ij gh fn;s tkus gSaA mŸkj&i=d esa 

fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k 

mŸkj ekU; ugha gksxkA 

7. Before writing anything on the OMR Answer 
Sheet, all the instructions given in it should 
be read carefully.  

 7. vks- ,e- vkj- mŸkj&i=d (OMR Answer Sheet) ij 

dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s lHkh vuqns’kksa dks 

lko/kkuhiwoZd i<+ fy;k tk;sA 

8. After the completion of the examination 
candidates should leave the examination hall 
only after providing their OMR Answer 
Sheet to the invigilator. Candidate can carry 
their Question Booklet. 

 8. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks 

viuh OMR Answer Sheet miyC/k djkus ds ckn 

gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ vius lkFk 

iz’u&iqfLrdk ys tk ldrs gSaA 

9. There will be no negative marking.  9. fuxsfVo ekfd±x ugha gSA 

10. Rough work, if any, should be done on the 
blank pages provided for the purpose in the 
booklet. 

 10. dksbZ Hkh jQ dk;Z  iz’u&iqfLrdk ds vUr esa  jQ&dk;Z 

ds fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A 

11. To bring and use of log-book, calculator, 
pager and cellular phone in examination hall 
is prohibited. 

 11. ijh{kk&d{k esa ykWx&cqd] dSydqysVj] istj rFkk lsY;qyj 

Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA  

12. In case of any difference found in English 
and Hindi version of the question, the 
English version of the question will be held 
authentic. 

 12. iz’u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus dh 

n’kk esa iz’u dk vaxzsth :ikUrj.k gh ekU; gksxkA 

Impt. : On opening the question booklet, first 
check that all the pages of the question 
booklet are printed properly. If there is ny 
discrepancy in the question Booklet, then 
after showing it to the invigilator, get 
another question Booklet of the same series. 

 
egRoiw.kZ % iz’uiqfLrdk [kksyus ij izFker% tk¡p dj ns[k ysa 

fd iz’u&iqfLrdk ds lHkh i”̀B HkyhHkk¡fr Nis gq, gSaA 

;fn iz’uiqfLrdk esa dksbZ deh gks] rks d{kfujh{kd dks 

fn[kkdj mlh fljht dh nwljh iz’u&iqfLrdk izkIr  

dj ysaaA 
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